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F(Y) =

= (;-?c)l’,  = (?p)-  i-j+;)

= .’ Y5+4(3-YZ) - 1  < y <  +1

= 0 L=h~~EIFi-lpoU  3
94  D

n.  am1

1

E(2Y  - 1) = @Y-I)-1 ;U-y2)dy

1 7= ---_  = -*
8 8

.94 e
4. afin

V(Y) =  E(Y2)-  (E (Y) )

I
1

E(Y)  = -IY;(’ -y’)dy,  = j;,;ydy-jl,;y3dy
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1= ( 3g3Y2
4 2 4 4 II -1

= (+t.j -(ej  =  0

s 1
E(Y’) = -,y2$l  -y’)dy

V ( Y )  =  E(Y’) - (E(Y))’

-
P(Y  >  0 . 0 5 )  = P

P-E(P) 0.05 - 0
m > *

I
‘.

= l-PZ+&
( j

0.05=
l - ptz  6 0.0447-j-~
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= 1 -P(Z  ,<  1.12) = l-0.8686

= 0.1314

3 .  %hil
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+l.  'ilUatU  C.D.F.

!

Y
F(Y)  = ofWdy  = 0 Y<O

=  jdO.OOO&(l-&)dy =  $(Y-&) ,O < Y  < 10,ooO

= I Y>l

9. F(z) = P(Z < z) = P(2Y < z)

F(z) = 0 hm-h  z  < 0

= iiikk&d 0 6 z < 20,000

= 1 z > 20,000

V(Y)  =  V(X,+X,+X,)  =  v(x,)+v(x,)+v(x,)

= 0.072+  0.07~+0.07~ = 3(0.07)2

91. P(Y > 48.25) = e > ‘;$?$!I

= P(2  > &) = P(Z > 2.08)

= o.mOO-P(Z  < 2,OS)

= 0.5000-0.4812 = 0.0188

OR 203 (H)



5. “a%1 8117  Chebychev’s inequality

P[Ix-pI  < kox]  3 l-$

P[gq  < 201  2 0 . 9 5

P[/X-pi 6  lOO]  L 0 . 9 5

kg  = 100, k* = 20

% Ubikl k =: \120, o = 200

n = 20x4 = 80

P(c,/H)  = WW’Wc,)
P(c,)P(H/c,)  + P(c2)P(H/c2) ’

(0.6)(0.3) 18 3
=  (0.6)(0.3)+(0.4)(0.6)  =  42 =  7
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,

P(cJH) = %MH/cz)
P(c,)P(H/c,) + P(c~)P(H/c~)

(0.4)(C.6) 24 4
= (0.6)(0.3)+(0.4)(0.6)  = 42 = 7

E[tla,/H)] =  (O)(;)+(l)(;) =  4

E[P(%/W]  =  (l)(+)+KO($)  =  ;

nxu-mnimmJwf.h  thw%vXlues'afto  5

Pill  P(H/c,) = 0.3 *  P(T/c,)  = 0.7

P(H/c*)  =  0 . 6  *P(T/c2)  =  0 . 4

’ P(c,/T)  =. .

=

P(c2/T)  =

=

E[&dV]  =

E[P(a2/V]  =

nxmuni~mJuh

P(c,)W/cJ
P(c,)P(T/c,)  + P(c,)P(T/c2)

(0.6)(0.7) 42 21
(0.6)(0.7)+(0.4)(0.4)  = ?i = 29

Wc2FV/c,)

W#‘(T/cJ + P(c2F’U/cd

(0.4)(0.4) 16
(0.6)(0.7)+(0.4)(0.4)  = s8 = $

(o)(g)  +(1)(&j = $ **

W(~)+(O)(gJ  = g

t-h4n~w~LYun'Du~o  s
29
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3 4 5

0.25 0.25 0.25

0.25 0.25 0.25

0.05 0.15 0.25

P(t’  = k) =

P(B  = 0) =

P(B  = 1) =

P(B  = 2) =

P(B = 3) =

P(B  = 4) =

P(B  = 5) =

(o.05)“(o.95)5 = 0.774

(0.05)(0.95)4 = 0.2036

= 0.021’4

= 0.00113

= 0.296x  1O-4

= 0.3125x 1O-6

E(f(a,))  = (0.25)(0.744)+(0.25)(0.2036)+(0.25)(0.0214)+(0.25)(0.00113)

+(0.25)(0.296x lO-4)+(O.25)(O.3125x  10-6)

= 0.25

E(P(a,))  = (-0.75)(0.744)+(.25)(0.2036)+(0.25)(0.0214)+(0.25)(.00113)

+(0.25)(0.296x 10-4)+(0.25)(0.3125)(10-6)

= -0.558+0.064  =  - 0 . 4 9 4  ***

E(!J(a,))  = (-0.25)(0.744)+(-0.15)(0.2036)+.(-0.05)(0.0214)+(0.05)(0.00113)

(0.15)(0.296x  lO-4)+(O.25)(O.3125x  lo-‘)
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.
.

= -0.186-0.03054-0.00107+0.0000565+0.OOOOO44+0.078125x  IO+

= -0.21761+0.60978x  1O-4  =  - 0 . 2 1 7 5 4

= -0.21754

E(P(a,/B  = 0)) = (0.25)(0.774)  = 0.1935

E(e(aJB =  0 ) )  =  (-0.75)(0.774)  =  - 0 . 5 8 0 5  **

E(O(a,/B  =  0 ) )  =  (-0.25)(0.774)  =  - 0 . 1 9 3 5

E(P(a,/B = 1 , 2 , 3 , 4, 5) = (0.25)(0.2036) + (0.25)(0.0214) + (0.25)(0.00113)

+(0.25)(0.2%x  10-4) + (0.25)(0.3  125 x 10-6)

= (0.25)(0.226)  = 0.0565

= 0.0565

E(P(a2/e = 1 , 2, 3 , 4, 5) = (t-).25)(0.226)  = 0.0565

E(PaJ/f? = 1, 2, 3 , 4, 5) = (-0.15)(0.2036)+(-0.05)(0.0214)+(0.05)(0.00113)

+(0.15)(0.296x  10-4) + (0.25)(0.3125  x 10-6)

= -0.03054-0.00107 f .0000~65  +0.0444x  1O-4

+0.07813x  1O-6

= -0.03161+0.61018x lO-4

= -0.03155
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